Answer Key

Lesson 4.6

Challenge Practice

1.
Statements

Reasons

1.LWVZ=LYVX

2. V' is the midpoint
of XZ.

3.2V=XV

4. XY | zw

5. A\WVZ = AYVX

1. Vertical Angles
Theorem
2. Given

3. Definition of midpoint

4. Given

5. ASA Congruence
Postulate

6.YV =WV 6. Corresp. parts of = A are =.
2.
Statements Reasons
1.£2= /1, 1. Given
L4=/5
2.1 =13 2. Vertical Angles
Theorem
3.msL2 =mL], 3. Definition of
mll =mL3 congruent angles
4. mL2 =mL3 4. Substitution property
of equality
5.42=/3 5. Definition of
congruent angles
6.JL = JL 6. Reflexive property

7. AJKL = AJML

of congruence
7. ASA Congruence Postulate

8. KL =ML 8. Corresp. parts of = A are =.
3.

Statements Reasons

1. L is the midpoint 1. Given

of JN.

2. JL=LN
3.P)=ON.
PL= QL

4. AJLP = ANLQ

5. £ PKJ and £ QMN

are right angles.
6. L PKJ = £ QMN

7. LKJP = / MNQ
. APKJ = AQMN
9. L MON = £ KPJ

oL

2. Definition of
midpoint
3. Given

4. SSS Congruence
Postulate
5. Given

6. Right Angles

Congruence Theorem
7. Corresp. parts of = A are =.
8. AAS Congruence Theorem
9. Corresp. parts of = A are =.
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4.
Statements Reasons
1. ZR= /S, 1. Given
£2=1/3
2.TV =TV 2. Reflexive property of congruence
3. ARTV = ASVT 3. AAS Congruence Theorem
4.RT =SV 4. Corresp. parts of = A are =.
5.45=726 5. Vertical Angles
Theorem
6. ARTU = ASVU 6. AAS Congruence
Theorem
7. RU = SU 7. Corresp. parts of = A are =.
5.
Statements Reasons
1. BC = CD, 1. Given
AB = AD
2. CA=CA 2. Reflexive property
of congruence
3. AABC = AADC 3. SSS Congruence
Postulate
4. L BCA = L DCA 4. Corresp. parts of = A are =.
5.CE=CE 5. Reflexive property
of congruence
6. ACEB = ACED 6. SAS Congruence
Postulate
7. LCEB = L CED 7. Corresp. parts of = A are =.
8.m/L CEB = 8. Definition of
m/ CED congruent angles
9. mL CEB + 9. Linear Pair Postulate
m/ CED = 180°
10. m£ CEB + 10. Substitution
m/ CEB = 180° property of equality

11.2m£CEB = 180° | 11. Simplify.
12. m£ CEB = 90° 12. Division property of equality
13. £ CEB and £ CED| 13. Definition of
are right angles. right angle
14.4AC 1 BD 14. Definition of
perpendicular lines
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6.

Statements Reasons
1. AB and CD bisect 1. Given

each other at point M.
2. M is the midpoint 2. Definition of

of AB and CD. segment bisector
3. AM = MB, 3. Definition of

DM = MC midpoint

4. L AMD = £ BMC
5. AAMD = ABMC
6.LA=/.B

7. AD| BC

4. Vertical Angles Theorem
5. SAS Congruence Postulate
6. Corresp. parts
of = A are =.
7. Alternate Interior Angles Theorem



